
1) 38 x 48

Answer: ____________

2) Decrease 155 by 2/31

Answer: ____________

3) 6   3/6 - 3   1/2

Answer: ____________

4) 15/5 + 3/2

Answer: ____________

5) 20/4 + 8/6

Answer: ____________

6) 6 x (-10)

Answer: ____________

7) 1 x 100

Answer: ____________

8) 2000 ÷ 100

Answer: ____________

9) 8/3 + 11/12

Answer: ____________

10) Decrease 170 by 1/17

Answer: ____________

11) 07:48 am To 09:03 am

Answer: ____________

12) 26 x 1000

Answer: ____________

13) Decrease 24 by 1/3

Answer: ____________

14) Decrease 129 by 2/43

Answer: ____________

15) 2   6/7 - 3   4/10

Answer: ____________
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16) 1 x (-15)

Answer: ____________

17) 02:39 am To 05:54 am

Answer: ____________

18) 39.27 ÷ 3.3

Answer: ____________

19) 80 x 79

Answer: ____________

20) 5000 ÷ 1000

Answer: ____________

21) Find the mode of the following set of data:

17, 17, 17, 16, 16, 16, 16, 12, 12, 
12, 12, 12, 5, 5, 5, 5, 5

Answer: ____________

22) 3 x 10

Answer: ____________

23) 80 - 57

Answer: ____________

24) 6 x 92

Answer: ____________

25) 9/8 + 3/2

Answer: ____________

26) 10:32 am To 04:47 pm

Answer: ____________

27) 17/4 + 4/6

Answer: ____________

28) 92.22 ÷ 5.3

Answer: ____________

29) 3   1/5 - 4   4/5

Answer: ____________

30) 1000 ÷ 1000

Answer: ____________
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31) (-171) ÷ 9

Answer: ____________

32) 700 ÷ 100

Answer: ____________

33) Find the mode of the following set of data:

23, 23, 23, 23, 23, 11, 11, 33, 33, 
33, 33, 33, 33, 33, 33, 33, 33, 33, 
33, 33, 33

Answer: ____________

34) 50 ÷ 10

Answer: ____________

35) 342 ÷ (-19)

Answer: ____________

36) 85 - 79

Answer: ____________

37) 28 x 10

Answer: ____________

38) 10 x 10

Answer: ____________

39) 169.56 ÷ 10.8

Answer: ____________

40) 75 + (-77)

Answer: ____________

41) 6   7/9 - 3   2/3

Answer: ____________

42) 07:53 am To 10:42 am

Answer: ____________

43) 26 x 75

Answer: ____________

44) 91 - 89

Answer: ____________

45) 29 x 7

Answer: ____________
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46) 62 x 98

Answer: ____________

47) (-63) + (-12)

Answer: ____________

48) 1400 ÷ 100

Answer: ____________

49) 3   6/8 - 4   3/4

Answer: ____________

50) Decrease 294 by 1/98

Answer: ____________

Total: ___ / 50
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